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BOOKS - NAGEEN MATHS (HINGLISH)

CO-ORDINATE GEOMETRY

Solved Examples

1. Find the distance between the following points :
(i) (3,4) and (5, 2)

(ii) (0, 2) and (4, -1)

(iii) (a, 2a) and (-a, -2a)

(iv) (4,-3) and (- 6, 5)

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_l3aBQ7ZYaR7c
https://dl.doubtnut.com/l/_sulPy3wl5lKH

2. Find the distance between the points (5, 8) and (-3, 2).

o Watch Video Solution

3. Find the distance between the points (2, 6) and (0, 9).

o Watch Video Solution

4. Find the distance between the points (acosf, asinf) from the

origin.

° Watch Video Solution

5. Find the distance of the point (3, 4) from the origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_sulPy3wl5lKH
https://dl.doubtnut.com/l/_8FhImXEm1kCo
https://dl.doubtnut.com/l/_jgyirDF1GaT2
https://dl.doubtnut.com/l/_5s1NgrqDHVN2

6. If the distance between the points (x, 2) and (6, 5) is 5 units, find the

valueof 'z .

° Watch Video Solution

7. If the distance between the points (-2, -5) and (-6, y) is 5 units, find

the value of y.

o Watch Video Solution

8.1If the distances of P(z, y) from A(5,1) and B( — 1, 5) are equal ,

then,
A2x =3y
B.2z = by

C3z =2y


https://dl.doubtnut.com/l/_tWBsb36yWSBs
https://dl.doubtnut.com/l/_6DnmwdgiFjQ8
https://dl.doubtnut.com/l/_BSrBkpdxdXYe

D.5z = 2y

Answer: C

° Watch Video Solution

9. Prove that the points (5, -2), (-4, 3) and (10, 7) are the vertices of an

isosceles right-angled triangle.

o Watch Video Solution

10. Prove that the points (a,a), ( —a, — a) and ( — a/3, ay/3)

are the vertices of an equilateral triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_BSrBkpdxdXYe
https://dl.doubtnut.com/l/_XltNWn86T1Xq
https://dl.doubtnut.com/l/_89V223aUWVpr

11. Prove that the points (4, 8), (7, 5) , (1, -1) and (-2, 2) are the vertices

of a parallelogram.

° Watch Video Solution

12. Prove that the points (2, -1), (4, 1), (2, 3) and (0, 1) are the vertices of

a square.

o Watch Video Solution

13. Show that the points A( — 3,3),B(7, —2) and C(1,1) are

collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_7vU3QkNXCE6Q
https://dl.doubtnut.com/l/_MyQttwZas4UL
https://dl.doubtnut.com/l/_dxommCYv1a9s

14. Show that the points (9, -2), (-5, 12) and (-7, 10) lie on that circle

whose centre is the point (1, 4)

o Watch Video Solution

15. In the given figure, AABC is an equilateral triangle of side 3

units. Find the coordinates of the other two vertices.

Ol A(2 0) B

o Watch Video Solution



https://dl.doubtnut.com/l/_cbZoK3zKJgKQ
https://dl.doubtnut.com/l/_xJQbzMikTbqa

16. A cyclic quadrilateral is drawn such that three of its consecutive
vertices are (0, 4), (0, 0) and (2, 0). Find the longest distance between

any two vertices of this quadrilateral.

o Watch Video Solution

17. The co-ordinates of two vertices of an equilateral triangle are (0, 0)

and (3, \/3 ) . Find the co-ordinates of the third vertex of the triangle.

o View Text Solution

18. What point on the X-axis is equidistant from (7, 6) and (-3, 4) ?

o Watch Video Solution



https://dl.doubtnut.com/l/_xJQbzMikTbqa
https://dl.doubtnut.com/l/_YbYARqES5c5b
https://dl.doubtnut.com/l/_Q4Cn59fnEQAg
https://dl.doubtnut.com/l/_Dd2S5bUKA7r8

19. Find the equation of the set of all points equidistant form the

point (4, 2) and the X-axis.

° View Text Solution

20. Find the equation of the set of points such that the sum of its

distances from (O, 3) and (0O, -3) is 8.

o Watch Video Solution

21. Find the equation of the set of all points which are twice as far

from (3, 2) as from (1, 1).

o Watch Video Solution



https://dl.doubtnut.com/l/_gXz9tghlIVYN
https://dl.doubtnut.com/l/_aj5nVq7oQBHd
https://dl.doubtnut.com/l/_6nZpAG7DqH32

22, If
A(2,2),B(—2, —2),C(—2/3,2/3) and D( — 4 —2,/3,4+2,/3)
are the co-ordinates of 4 points. What can be said about these four

points ?

° View Text Solution

23.Find the coordinates of points on the line joining the point that is

twice as far from as from

o Watch Video Solution

24. Show that AABC, where
A(-2,0),B(2,0),C(0,2) and APQR where

P(—4,0),Q(4,0) and R(0, 4) are similar triangles.

° Watch Video Solution



https://dl.doubtnut.com/l/_DfEwV1Q6TOBJ
https://dl.doubtnut.com/l/_96Oys5Xc3u7z
https://dl.doubtnut.com/l/_MPJvAhRIQf2G

25. Find the co-ordinates of a point which divides the line segment

joining the points (5, 1) and (-10, 11) in the ratio 2 : 3 internally.

o Watch Video Solution

26. If a point P lies on the line segment joining points
A(—3,4) and B( — 2, — 6) such that 2AP = 3BP

then, find the co-ordinates of point P.

° Watch Video Solution

27.Find the co-ordinates of a point which divides the line joining the

points A(3,4) and B( — 2, — 1) in the ratio 3 : 2 externally.

o Watch Video Solution



https://dl.doubtnut.com/l/_lxNbvL5dctBK
https://dl.doubtnut.com/l/_mkaA2CesnA7a
https://dl.doubtnut.com/l/_aOBqgGo5bqCw

28.Find the co-ordinates of a point which divides the line joining the

points A(5, — 2) and B(4, 6) in the ratio 1: 2 externally.

o Watch Video Solution

29. Find the co-ordinates of the mid-point of the line segment joining
the points A(3, — 5) and B(1,1).

A (2,2)

B.(4, —4)

C.(1, — 1)

D.(2, — 2)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_E29js2VXmomB
https://dl.doubtnut.com/l/_3pOAzaz4zuX4

30. The co-ordinates of the end points of a diameter are (-1, 5) and (3,

-1). Find the co-ordinates of the centre and the radius of circle.

° Watch Video Solution

31. The co-ordinates of the mid-point of line joining the points A and
B are (2, -3). If the co-ordinates of point A are (-3, 4), then find the co-

ordinates of point B.

o Watch Video Solution

32.Find the ratio in which X-axis divides the line segment joining the

points (8, 5) and (-3, - 7).

° Watch Video Solution



https://dl.doubtnut.com/l/_Agh73T2VHEXM
https://dl.doubtnut.com/l/_Leq9Db3qp0lL
https://dl.doubtnut.com/l/_LDQ6OEWRDroj
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33. In what ratio does the point (ﬁ,y> divide the line segment

joining the points P(2, — 2) and Q(3, 7)? Also find the value of y.

o Watch Video Solution

34. The co-ordinates of the vertices of AABC are
A(3,2),B(1,4) and C( — 1,0). Find the length of median drawn

from point A.

o Watch Video Solution

35.Find the co-ordinates of the points fo trisection of the line joining

the points (3,-2) and (-3, -4).

o View Text Solution



https://dl.doubtnut.com/l/_vHHsDyE7wPFy
https://dl.doubtnut.com/l/_hp6SSK5cttXI
https://dl.doubtnut.com/l/_DkmLs1nZioum

36. If two adjacent vertices of a parallelogram are (3, 2) and (-1, 0) and
the diagonals intersect at (2, -5), then find the coordinates of the

other two vertices.

o View Text Solution

37. The co-ordinates of three consecutive vertices of a parallelogram
are (-1,0), (3, 1) and (2, 2). Find the co-ordinates of fourth vertex of the

parallelogram.

o Watch Video Solution

38. Find the image of point P(3,-1) in the point A (-5, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_tP6d9SMeAMNw
https://dl.doubtnut.com/l/_ztt5DUZkLCak
https://dl.doubtnut.com/l/_XNofOitf3UYO

39. In what ratio does the line x -y - 2 = 0 divides the line segment

joining (3,-1) and (8,9) ?

° Watch Video Solution

40.Find a point on the line through A(5, — 4) and B( — 3, 2), that

is, twice as far from A as from B.

o View Text Solution

41.Find the centroid of the triangle whose vertices are A(-1,0), B(5, -2)

and C(8, 2).

o View Text Solution



https://dl.doubtnut.com/l/_xJX8K0Lsd0jr
https://dl.doubtnut.com/l/_CsmCQ7C7xCPs
https://dl.doubtnut.com/l/_H2ufPca4pAzP

42. A line intersect the Y-axis and X-axis at he points P and Q
respectively. If (2,-5) is the mid-point of PQ, then find the coordinate of

P and Q.

o View Text Solution

43. Point P (hk) divides a line segment between the exes in the ratio
1:2 Find the lengths (intercepts) on the axes made by this segment.
Also find the area of triangle formed by the line segment and the

axes.

o View Text Solution

44. Find the area of the triangle, whose vertices are (2,1), (4,5) and

(6,3).

A3


https://dl.doubtnut.com/l/_AgHNc10AxP8D
https://dl.doubtnut.com/l/_7wU1Ku2jSDB3
https://dl.doubtnut.com/l/_z94kxxICkSXY

B.6

Cc.9

D. 12

Answer: B

o Watch Video Solution

45.Find the area of triangle, whose vertices are (2,3), (7,5) and (-7,-5).

o Watch Video Solution

46.Find the area of the triangle, whose vertices are (a,c+a), (a,c) and (-

a,c-a).

o Watch Video Solution



https://dl.doubtnut.com/l/_z94kxxICkSXY
https://dl.doubtnut.com/l/_9vkszwRmc7sd
https://dl.doubtnut.com/l/_rx41Av6UlNe7

47. Prove that the points (6,4) (4,5) and (2,6) are collinear.

o Watch Video Solution

48. If the points A (xy), B (1,4) and C (-2,5) are collinear, then shown

that x + 3y =13.

° Watch Video Solution

49. For what value of 'k, the points (k,), (1,-1) and (11,4) are collinear ?

o Watch Video Solution

50.1f a # b # 0, prove that the points (a, az), (b, bz), (0, 00) will

not be colliear.

o Watch Video Solution



https://dl.doubtnut.com/l/_RBDEgy3G51nM
https://dl.doubtnut.com/l/_3f9gnbpkj3y0
https://dl.doubtnut.com/l/_yK8xZ70Y7LJo
https://dl.doubtnut.com/l/_RX9P5fIJohAL

51. If (x,y) be any point on the line segment joinijng the points

(a,0)and (0,b) then prove that % + % = 1.

o Watch Video Solution

52.If P be a point equidistant from points A (3,4) and B (5,-2) and area

of APAB is 10 square units, then find the co-ordinates of point P.

o Watch Video Solution

53.The area of a triangle is 5 sq. units. Two. Of its vertices are (2,1) and

(3,-2). If the third vertex is (;, y), find the value of y.

o Watch Video Solution

Miscellaneous Examples


https://dl.doubtnut.com/l/_RX9P5fIJohAL
https://dl.doubtnut.com/l/_Iv4jWVQQRNGo
https://dl.doubtnut.com/l/_Z04WRc0259QE
https://dl.doubtnut.com/l/_GoLcBMPb2c7W

1. If the point P(k-1, 2) is equidistant from the points A(3, k) and B(k, 5),

find the values of k.

° Watch Video Solution

2. Find a point on y-axis which is equidistant from the points

(5, —2)and ( — 3, 2).

o Watch Video Solution

3. Points A(—1,y) and B(5,7) lie on a circle with centre

O(2, — 3y) .Find the values of y. Hence, find the radius of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_JT8VgTa3PKfV
https://dl.doubtnut.com/l/_mxWZqcoPddTt
https://dl.doubtnut.com/l/_0G1TUskryAhw

4. The points A(4, 7), B(p, 3) and C(7, 3) are the vertices of a right

triangle, right-angled at B. Find the value of p.

° Watch Video Solution

5. Find the co-ordinates of the points of trisection of the line segment

joining the points A( — 5,6) and B(4, — 3).

o View Text Solution

6. Find the ratio in which the point P(z, 2) divides the line segment

joining the points A(12,5) and B(4, — 3).Also find the value of .

° Watch Video Solution



https://dl.doubtnut.com/l/_llwV3eB9v2ZZ
https://dl.doubtnut.com/l/_8raPeJlXigp3
https://dl.doubtnut.com/l/_2l3qEH76eiZv

7. Find the lengths of the medians AD and BE of AABC whose

vertices are A(7, — 3), B(5,3) and C(3,1)

° Watch Video Solution

8. If the points A( — 1, — 4), B(b,c) and C(5, — 1) are collinear

and 3b + c =4, find the values of b and c.

o Watch Video Solution

Problems Of Ncert Exemplar

1. Find the points on the X-axis which are at distance of 2,/5 from the

point (7,-4) . How many such points are there ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Qh3MrKcXTDuJ
https://dl.doubtnut.com/l/_yZT4TPi6h2vt
https://dl.doubtnut.com/l/_6bOwFtB06QEN
https://dl.doubtnut.com/l/_wJ1KGkHqpx0u

2. Find a point which is equidistant from the points

A( —5,4) and B( — 1, 6) How many such points are there ?

o View Text Solution

3. Find the value of m, if the points (5,1), (-2,-3) and (8,2m) are collinear

o Watch Video Solution

4. If point P(9a — 2, b) divides the line segment joining the points
A(3a + 1, — 3) and B(8a, 5) in the ratio 3 : 1, then find the values of

aand b.

o View Text Solution



https://dl.doubtnut.com/l/_wJ1KGkHqpx0u
https://dl.doubtnut.com/l/_Ki9UdhRYD7gQ
https://dl.doubtnut.com/l/_AHV9zJDBbepo

5. A(6,1), B(8,2) and C(9,4) are three vertices of parallelogram

ABCD. If E is the mid-point of DC, then find the area of AADE.

o View Text Solution

6. Student of a school are standing in rows and columns in their
playground for a drill practice. A, B, C, D are the positions of four
students as shown in the figure. Is it possible to place Jaspal in the

drill in such a way that he is equidistant from eachl of the four


https://dl.doubtnut.com/l/_lFhMRKnkEY7m
https://dl.doubtnut.com/l/_vlccRNFyUCBj

students A, B, C and D? If so, what should be his position ?

DY

B
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| Columnsi‘feache? S

R I R =)

o View Text Solution

7. Ayush starts walking from his house to office. Instead of going to
the office directly, he goes to a bank first, from there to his daughter's
school and then reaches the office. What is the extra distance
travelled by Ayush in reaching his office ? (Assume that all distance

covered are in straight lines). If the house is situated at (2, 4) , bank at


https://dl.doubtnut.com/l/_vlccRNFyUCBj
https://dl.doubtnut.com/l/_A4H8GKN6K9OK

(2, 4), bank at (5, 8) school at (13, 14) and office at (13, 26) and co-

ordinates are in km.

o View Text Solution

8.To conduct Sports Day activities, in your rectangular shaped school
ground ABCD, lines have been drawn with chalk powder at a distance
of 1 m each. 100 flower pots have been placed at a distance of 1 m
from each other along AD, as shown in figure.

Niharika runs % th the distance AD on the 2nd line and posts a green
flag. Preet runs % th the distance AD on the eighth line and posts a

red flag. What is the distance between both the flags ? If Rashmi has

to post a blue flag exactly halfway between the line segment joining


https://dl.doubtnut.com/l/_A4H8GKN6K9OK
https://dl.doubtnut.com/l/_PK41Vu0wKhQx

the two flags, where should she post her flag ?

N

1

b

¢

-
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o

o View Text Solution

9. Find the ratio in which the line segment joining the points (-3, 10)

and (6, -8) is divided by (-1, 6).

o Watch Video Solution



https://dl.doubtnut.com/l/_PK41Vu0wKhQx
https://dl.doubtnut.com/l/_KivZXgDHXByE

10. Find the co-ordinates of the points which divide the line segment

joining A (-2, 2) and B(2, 8) into four equal parts.

o View Text Solution

11. Find the area of a rhombups if its vertices are (3, 0), (4, 5), (-1, 4)

and (-2, -1) taken in order.

o View Text Solution

12. Find the centre of a circle passing through the points (6, -6), (3,7)

and (3, 3).

o View Text Solution



https://dl.doubtnut.com/l/_KivZXgDHXByE
https://dl.doubtnut.com/l/_0QMZqTMMchtL
https://dl.doubtnut.com/l/_h9BugxPkEEOK
https://dl.doubtnut.com/l/_SylsYpzHf4TV

13. The two opposite vertices of a square are (3, 4) and (1, -1). Find the

co-ordinates of the other two vertices.

o Watch Video Solution

14. ABCD is a rectangle formed by joining the points
A(-1, -1), B(—1,4), C(5, 4 and D(5, —1)-P, Q, Rand
S are the mid-points of sides AB, BC, C'D and DA respectively. Is
the quadrilateral PQRS a square? a rectangle? or a rhombus? Justify

your answer.

o Watch Video Solution

1. Find the distance between the following points : (i)

A( —6,4) and B(2, — 2) (i) A(— 5, — 1) and B(0, 4)


https://dl.doubtnut.com/l/_ii5OxJPeCkDp
https://dl.doubtnut.com/l/_FuEZrI4huTu6
https://dl.doubtnut.com/l/_bJ3bPywIFj2W

o Watch Video Solution

2. Find the distance of the following points from origin :
(i) (3,-4)

(i) (-8,-6)

(iii) (5,12)

(iv) (7, 24)

o Watch Video Solution

3. Find the distance between the points (a, b) and (-b, a).

o Watch Video Solution

4.Find the distance between the points (2a, 3a) and (6a, 6a).

o Watch Video Solution



https://dl.doubtnut.com/l/_bJ3bPywIFj2W
https://dl.doubtnut.com/l/_gLgzIO8BJLn5
https://dl.doubtnut.com/l/_1DLzam93ibB2
https://dl.doubtnut.com/l/_UfOz99AaaElK

5. Find the distance between origin and the point (a, -b).

o Watch Video Solution

6. If the distance between the points (6, 0) and (O, y) is 10 units, find

the value of y.

o Watch Video Solution

7.1f the distance between the points (3, x) and (-2, -6) is 13 units, then

find the value of x.

° Watch Video Solution

8. Prove that the distance between the origin and the point (-6, -8) is

twice the distance between the points (4, 0) and (0, 3).


https://dl.doubtnut.com/l/_UfOz99AaaElK
https://dl.doubtnut.com/l/_yoPQmDvvqhuW
https://dl.doubtnut.com/l/_mDIvbEIG4mWM
https://dl.doubtnut.com/l/_QDoo7Yu36vfY
https://dl.doubtnut.com/l/_DqaLX3ilgxmD

o Watch Video Solution

9. Find the co-ordinates of a point whose absicissa is 10 and its

distance from the point (2, -3) is 10 units.

° View Text Solution

10. Prove that the following points are the vertices of a right-angled
triangle :
(i) A( —2,2), B(13,11) and C(10, 14)

(i) A(—1, —6), B(—9, —10) and C( — 7, 6)

o Watch Video Solution

11. Prove that the following points are the vertices of an isosceles

right-angled triangle :


https://dl.doubtnut.com/l/_DqaLX3ilgxmD
https://dl.doubtnut.com/l/_xJHlaWY0vOk0
https://dl.doubtnut.com/l/_iC2k9lqvofJ1
https://dl.doubtnut.com/l/_W8mj5aYLsev2

() A(— 8, —9), B0, —3) and C( — 6, 5)

(i) A(1, — 1), B(—2,2) and C( -2, — 1)

o Watch Video Solution

12. Prove that the points
(-1, —2),(—-2, —5),(—4, —6) and (—3, —3) are the

vertices of a parallelogram.

o Watch Video Solution

13. Prove that the poins ( —4, —3),( —3,2),(2,3) and (1, — 2)

are the vertices of a rhombus.

o Watch Video Solution



https://dl.doubtnut.com/l/_W8mj5aYLsev2
https://dl.doubtnut.com/l/_YDeSE1vxjJon
https://dl.doubtnut.com/l/_YVp7nFMaC4jI

14. Show that the following points are the vertices of a rectangle :
(') A(47 2)) B(Oa - 4)7 C( - 37 - 2)7 D(la 4)

(i) A(1, — 1), B( — 2,2), C(4, 8), D(7,5)

o Watch Video Solution

15. Show that the points A(2, 1), B(0, 3), C( — 2,1) and D(0, — 1)

are the vertices of a square.

o Watch Video Solution

16. Show that the points (1, 1), (2, 3) and (5, 9) are collinear.

o Watch Video Solution

17. Show that the points (0, 0) , (5, 3) and (10, 6) are collinear.

| - |


https://dl.doubtnut.com/l/_0SYMRKdvHuoc
https://dl.doubtnut.com/l/_WynB4gI4Df04
https://dl.doubtnut.com/l/_RcVB7QPjUcEh
https://dl.doubtnut.com/l/_EYezG8UNqttl

I & Watch Video Solution I

18. Show that the points (-3, 2), (2, -3) and (1, 2\/5) lie on the

circumference of that circle, whose centre is origin.

o Watch Video Solution

19. If the point (x, y) is equidistant from the points (a+b, b-a) and (a-b,

a+b), then prove that bx=ay.

o Watch Video Solution

20. If (1, 1) and (1, 8) are the opposite vertices of a square, then find

the co-oridnates of remaining two vertices.

o Watch Video Solution



https://dl.doubtnut.com/l/_EYezG8UNqttl
https://dl.doubtnut.com/l/_sHnFySgnLcU1
https://dl.doubtnut.com/l/_1c4alefvcERl
https://dl.doubtnut.com/l/_2jsvQGB80U3q

1. Find the co-ordinates of a point which divides the line joining the

points (5, 3) and (10, 8) in the ratio 2 : 3 internally.

o Watch Video Solution

2. Find the co-ordinates of a point which divides the line joining the

points (-1, 2) and (3, 5) in the ratio 3 : 5 internally.

o Watch Video Solution

3. Find the co-ordinates of a point which divides the line joining the

points (2,-1) and (3, 3) in the ratio 2 : 1 internally.

o Watch Video Solution



https://dl.doubtnut.com/l/_h0ImUShr1lKc
https://dl.doubtnut.com/l/_CiAoufCsT2JP
https://dl.doubtnut.com/l/_Tm1efMzaDu9R

4. Find the co-ordinates of a point which divides the line segment

joining the points (1,-3) and (2, -2) in the ratio 3 : 2 externally.

o Watch Video Solution

5. Find the co-ordinates of a point which divides the line segment
joining the points (3, 0) and (0, 2) in the ratio 2 : 1 externally.

A.(3,4)

B.(—3,4)

C. (3, —4)

D.(—3, —4)

o Watch Video Solution

6. If a point A lies on the line segment joining the points
P(6,0) and Q(0, 8) such that AP: AQ = 2: 3, find the co-ordinates

of point A.


https://dl.doubtnut.com/l/_LeaSOzctkYLe
https://dl.doubtnut.com/l/_xiwazrOC6IkT
https://dl.doubtnut.com/l/_x9UpqbFoqigQ

o Watch Video Solution

7. Find the ratio in which X-axis divides the line segment joining the

points (8, 5) and (-3, 7).

o Watch Video Solution

8. Find the ratio in which Y-axis divides the line segment joining the

points (3, 4) and (-2, 5).

° Watch Video Solution

9. Find the ratio in which Y-axis divides the line segment joining the

points (a, b) and (-b, a).

o Watch Video Solution



https://dl.doubtnut.com/l/_x9UpqbFoqigQ
https://dl.doubtnut.com/l/_ThVPWUZBUNvO
https://dl.doubtnut.com/l/_YMB24KSHnMjE
https://dl.doubtnut.com/l/_NqIw3eTXdwzB
https://dl.doubtnut.com/l/_jI9TACDK7XqY

10. Find the co-ordinates of the mid-point of the line joining the
following points :

(i) (2,4) and (6, 2)

(ii) (0, 2) and (2, -4)

(iii) (a + b,a — b) and (b — a,a + b)

(iv) (3,-5) and (-1, 3)

o Watch Video Solution

11. The co-ordinates of the end points of a diameter of a circle are (3,

-2) and (-3, 6). Find the co-ordinates of the centre and radius.

° Watch Video Solution

12. The co-ordinates of the vertices of a AABC are

A(1,0), B(3,6) and C(3,2).Find the length of its medians.

o Watch Video Solution



https://dl.doubtnut.com/l/_jI9TACDK7XqY
https://dl.doubtnut.com/l/_sOYuq96BLi7I
https://dl.doubtnut.com/l/_54PlMLHymgZe

13. The co-ordinates of three consecutive vertices of a parallelogram

are (2,0),(4,1) and (6, 4). Find the co-ordinates of its 4th vertex.

o Watch Video Solution

14. Find the co-ordinates of the points of trisection of the line

segment joining the points (2, 5) and (6, -2).

o Watch Video Solution

15. Find the co-ordinates of the points fo trisection of the line

segment joining the points (-2, 0) and (4, 0).

o View Text Solution



https://dl.doubtnut.com/l/_54PlMLHymgZe
https://dl.doubtnut.com/l/_ELRi1d5dw7bc
https://dl.doubtnut.com/l/_XViBuHmBhkUb
https://dl.doubtnut.com/l/_QmkBWbhsmnhV

16. Find the ratio in which the join of points (3, -1) and (8, 9) is divided

by the line y-x+2=0.

o Watch Video Solution

17. The line segment joining the points (3, -4) and (1, 2) is trisected at
the points P and Q. If the co-ordinates of P and Q are

5
(p, —2) and <§, q> respectively, find the values of p and q.

o Watch Video Solution

18. Two circles C(0, r) and C'(0', r') touch externally at P(3, 1). If the co-
ordinates of O and O' are (1, p) and (q, -2) repectively. Their areas are

in the ratio 4 : 9. Find the value of p* + ¢%.

o View Text Solution



https://dl.doubtnut.com/l/_D7GmOKX7pc7K
https://dl.doubtnut.com/l/_f7ir6g01JcDR
https://dl.doubtnut.com/l/_qus0wkJPV6rF

1. Find the area of that triangle whose vertices are

(2a 3)7 ( - 3) 4) and (77 5)

o View Text Solution

2. Find the area of that triangle whose vertices are

(1,1),(—1,4) and (3,2).

o View Text Solution

3. Find the area of that triangle whose vertices are

(—4,3),(—2,1) and (5, 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_1rAoeAs8A6Ce
https://dl.doubtnut.com/l/_7LR75jtOcR0G
https://dl.doubtnut.com/l/_deiUNvq1qUYQ

4. Find the area of that triangle whose vertices are

(at?, Zatl), (at%, 2at2) and (a,tg, 2at3).

° Watch Video Solution

5. Find the area of that triagle whose vertices are

(b+c,a),(b—rc,a) and (a, — a).

o Watch Video Solution

6. Prove that the following points are collinear :

(7)(2,1),(4,3) and (3,2) (44)(9,6),( — 1,4) and (2,5)
(i12) (b + c,a),(c + a,b) and (a + b,c) (iv)(5,6),( — 1,4) and (2,5)

o Watch Video Solution



https://dl.doubtnut.com/l/_KnVbhb77wxnn
https://dl.doubtnut.com/l/_JQv0gLWbZpbm
https://dl.doubtnut.com/l/_JapyN8JnHuW6

7. (i) If the points
(1,4), (3, —2) and (k, 1)B(3k, 2k + 3) and C(5k — 1,5k)  are
collinear, fine the value of k.

(i) If the points
A(k + 1, 2k), B(3k, 2k + 3), B(3k, 2k + 3) and C(5k — 1, 5k) are

collinear, then show that x +y =2.

o Watch Video Solution

8. If the points A (z,y), ( —1,3) and (5, — 3) ar collinear, then

show that x +y = 2.

o Watch Video Solution

9. Find the area of the triangle formed by joining the mid-points of

the sides of  the triangle whose vertices are


https://dl.doubtnut.com/l/_RJSVl42LSseK
https://dl.doubtnut.com/l/_uySHjIqkdflK
https://dl.doubtnut.com/l/_CIECucYMIlfD

(0, —1),(2,1) and (0, 3). Find the ratio of this area to the area of

the given triangle.

o Watch Video Solution

10. Find the area of the quadrilateral whose vertices are

(-4, —2), (-3, —5), (3, —2), (2 3

o Watch Video Solution

1. A(4,3), B(6,5) and C(5, — 2) are the vertices of a AABC, if P
is a point on BC such that BP: PC = 2:3. Find the co-ordinates of

P and then prove then ar (AABP):ar(AACP) = 2:3.

o Watch Video Solution



https://dl.doubtnut.com/l/_CIECucYMIlfD
https://dl.doubtnut.com/l/_lbCv5sr9zWeZ
https://dl.doubtnut.com/l/_Ot29qL4b1l7y

12. The vertices of a AABCareA(4, 6), B(1,5) and C(7,2). A line
is drawn to intersect side AB and AC at D and E respectively, such that

with the area of AABC.

o Watch Video Solution

13. The area of a triangle is 5 units. Two of its certices are
(2,1) and (3, — 2). The vhird vertex lies on y = x + 3. Find the co-

ordinates of the third vertex of the triangle.

o Watch Video Solution

14.The perpendicular bisector of the line segment joining the points

A(1,5) and B(4, 6) cuts the y-axis at which point?

o Watch Video Solution



https://dl.doubtnut.com/l/_txXsNO6ik6VG
https://dl.doubtnut.com/l/_e4qh4lqHAMxL
https://dl.doubtnut.com/l/_5K3vDkG1uTkP

1. Find the values of y of which the distance beween the points

A(3, — 1) and B(11,y) is 10 units.

o Watch Video Solution

2. Find the relation between x and y such that the point P (xy) is

equidistant from the points A(1,4) and B( — 1, 2).

o Watch Video Solution

3. Find the point on Y-axis which is equidistant from the points

(—5,2) and (9, — 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_mBojfjBtJxcM
https://dl.doubtnut.com/l/_a2CFyrfxKMjD
https://dl.doubtnut.com/l/_kbX0ODjoAcpM

4. Find the co-ordinates of the point equidistant from three given

points A(5,1), B( — 3, — 7) and C(7, — 1).

° Watch Video Solution

5. Show that the points (a, a), ( — a, —a) and ( — 1/3a, 1/3a) are

the vertices of an equilateral triangle. Find its area.

o View Text Solution

6. Show that the points (1,1), ( —1,5),(7,9) and (9, 5) taken in

that order, are the vertices of a rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_FQHWXUotpSlL
https://dl.doubtnut.com/l/_78RliFB5cVr7
https://dl.doubtnut.com/l/_kxpUKfJN5fqV

7.Show that the points A(3, 5), B(6,0)mC(1, — 3) and D( — 2, 2)

are the vertices of a square ABCD.

° Watch Video Solution

8 If A(2, —1),B(3,4),C(—2,3) and D( — 3, —2) be four
points in a plane show tht ABCD is a rhombus but not a square. Find

the area of the rhombus.

o Watch Video Solution

9. Find the co-ordinates of a point P on the line segment joining

2
A(1,2) and B(6,7) such that AP = EAB'

° Watch Video Solution



https://dl.doubtnut.com/l/_yW6rLbvuHYP8
https://dl.doubtnut.com/l/_RKRqYO906Kkn
https://dl.doubtnut.com/l/_LDdDesjJJUzH

10. Point P divides the line segment joining the points

AP 1
A(2,1) and B(5, — 8) such that 1B - 3 If P lies on the line 2x -

y + k=0, find the value of k.

o Watch Video Solution

11. Find the ratio in which the point P (11y) divides the line segment

joining the points A(15,5) and B(9, 20). Also find the value of y.

o Watch Video Solution

12. Two vertices of a AABC are given by A(6,4) and B( — 2,2) and
its centroid is G (3,4). Find the co-ordinates of the vertex C of

AABC.

o Watch Video Solution



https://dl.doubtnut.com/l/_81ImQm8Dp0Ct
https://dl.doubtnut.com/l/_nVsXX5dmmov6
https://dl.doubtnut.com/l/_k7B8kvPRIQRJ
https://dl.doubtnut.com/l/_mslBLWswhh6G

13. The base QR of an equilateral triangle PQR lies on X-axis. The co-
ordinates of the point Q are (-4,0) and origin is the mid-point of the

base. Find the co-ordinates of the points P and R.

o Watch Video Solution

14. The mid-point P of the line segment joining the points
A( —10,4) and B( — 22,0) lies on the line segment joining the
points C( —9, —4) and D( —4,y). Find the ratio in which P

divides CD. Also, find the value of y.

o Watch Video Solution

15. Find the value of k so that the area of the triangle with vertices

(1, —1),( —4,2k) and ( — k, — 5) is 24 square units.

o View Text Solution



https://dl.doubtnut.com/l/_mslBLWswhh6G
https://dl.doubtnut.com/l/_XTWoEu3jFsfD
https://dl.doubtnut.com/l/_Rm6ApJOhK2q6
https://dl.doubtnut.com/l/_J27yaHlynEpc

16. If A(4, —6),B(3, —2) and C(5,2) are the vertices of a
AABC and AD is its median, prove that the median AD divides

AABC into two triangles of equal areas.

o Watch Video Solution

17. Find the area of quadrilateral ABCD, whose vertices are

A(—4,8),B(—3, —4),C(0, —5) and D(5, 6).

o Watch Video Solution

18. If the area of AABC with vertices A(z,y), B(1,2) and C(2,1)

is 6 square units, then prove that x + y =15 or x + y + 9=0.

o Watch Video Solution

Revision Exercise Very Short Answer Questions


https://dl.doubtnut.com/l/_J27yaHlynEpc
https://dl.doubtnut.com/l/_xpwH5G0fjvxO
https://dl.doubtnut.com/l/_pfLXuNUVs3Q7

1. Find the value of a so that the point (3,a) lies on the line

represented by 2x-3y=5

° Watch Video Solution

2. Find the value of k so that the point (2,5) lies on the line

represented by kxz + 3y = 1.

o Watch Video Solution

3. Find the distance of the point (4, — 3) from the origin .

o Watch Video Solution

4.Find the distance between the points (0, — 3) and (3, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_scOoIaLkEig5
https://dl.doubtnut.com/l/_snQaEKKopkko
https://dl.doubtnut.com/l/_mQfe91n2MNcn
https://dl.doubtnut.com/l/_5DQqIQcf7eZ4

5.In what ratio does the Y-axis divide the join of ( — 4, 2) and (8, 3)?

o Watch Video Solution

6. If the distance between the point (z, — 1) and ( — 2, 2) is 5, then

find the possible values of x..

o Watch Video Solution

7. Find the centroid of AABC whose vertices are A(0, —1) , B

(—2,5)and C(2,8).

o Watch Video Solution

8. Two vertices of AABC are A( — 1, 4) and B(5,2) and its centroid is

(0, — 3) .Find the co-ordinates of point C.


https://dl.doubtnut.com/l/_5DQqIQcf7eZ4
https://dl.doubtnut.com/l/_2DleMlvava92
https://dl.doubtnut.com/l/_9RhKZObH2vlf
https://dl.doubtnut.com/l/_bSs9i1no2JKO
https://dl.doubtnut.com/l/_oVq09eLOzJ2L

o Watch Video Solution

9. Three vertices of a parallelogram ABCD are B (6,7) , C (8,3) and D

(0, — 1) . Find the co-ordinates of vertex A.

o Watch Video Solution

10. Find the value of k if the points (2,3) , (5,k) and (6,7) are collinear .

o Watch Video Solution

Revision Exercise Short Answer Questions

1.If A( —2,4), B(0,0) and C(4,2) are the vertices of AABC , find

the length of the median through A.

o Watch Video Solution



https://dl.doubtnut.com/l/_oVq09eLOzJ2L
https://dl.doubtnut.com/l/_1MOo3nJWBUnL
https://dl.doubtnut.com/l/_j427gbtEbCvv
https://dl.doubtnut.com/l/_oWWNKPdMxZB7

2. . Find the relation between x and y if the points

A(z,y), B( —5,7) and C( — 4, 5) are collinear.

o Watch Video Solution

3. In what ratio does the line x — y — 2 = 0 divide the line segment

joining the points (3, — 1) and (8,9) ?

o View Text Solution

4. Find the area of the triangle whose vertices are (3,8), (-4,2) and (5,

-1).

o Watch Video Solution



https://dl.doubtnut.com/l/_oWWNKPdMxZB7
https://dl.doubtnut.com/l/_B56KBv7mTL9m
https://dl.doubtnut.com/l/_9MbBYrs0zv3K
https://dl.doubtnut.com/l/_f7cydFNn3XhF

5. Show that the points A( -1, —4) , B(3,3) , C(34) and

D( — 1, — 3) are the vertices of a rhombus.

° Watch Video Solution

6. If D(3,-2) , E(-3,1) and F(4,-3) are the mid-points of the sides BC, CA
and AB respectively of AABC', find the co-ordinates of point A, B

and C.

o Watch Video Solution

7.1f the point P ( — 1, 2) divides the line segment joining A (2,5) and B

in the ratio 3: 4, find the co-ordinate of B .

° Watch Video Solution



https://dl.doubtnut.com/l/_WCjMnfbA6AcB
https://dl.doubtnut.com/l/_plJxdSCrCIoZ
https://dl.doubtnut.com/l/_UaLBlf8CXdHb

8. Prove that the points (a, 0), (0, b) and (1, 1) are collinear fif,

11,
a b

° Watch Video Solution

9.I1f A (1,2) , B(-2, 3) and C(-3,-4) be the vertices of AABC' . Verify that

median BE divides it into two triangles of equal areas.

o Watch Video Solution



https://dl.doubtnut.com/l/_d5kalz2Yf4lt
https://dl.doubtnut.com/l/_Hi6FfHNAT9qO

